## Exercise 6.6

Slope of a Curve The slope of a curve at a point on the curve is the slope of the langent line to the curve at that point. Theorem If P(r, 0), r to is a point on the curve defined by r = f(0). Then the angle between the radius vector ad langent at p in the direction of increasing o has measured & given by Tam W = I dry Give geometrical significance of derivative in polar coordinales. Prove that Tan Y = r do OR Profiter P(r,0) and Q(r+8r,0+80) a (r+8r, 0+80) be any adjacent pairles on the curve r= f(0). Let y be the angle between the sadius vector and the (rso) langent at P. Further let Q PR = X yhen OPQ = R-X and ORP= n-(n-x+80) 02P= 2-80 Apply the law of sine to a OPQ r+ 61 Available at http://www.MathCity.org Sin (d-BD)  $rSin(\overline{n}-\alpha) = (r+\beta r)Sin(\alpha-\beta 0)$ r Sind = (r + 8r) ( Sind Cas 80 - Casa Sin 80) r Sind = r Sind Cas 80 - r Casa Sin 80 + Ersind Cas 60 - 6r Casa Sin 80

rsind-rsind Casso = brsind Casso-(r+ fr) Casa Sin 60

rSind (1-6550) = &rSind (2560 - (r+&r) (20 d Sin & 0.  
Dividing by 60  
rSind (1-6550) = 
$$\frac{6\pi}{60}$$
 [Sind (2560] -  $\frac{(r+6r)}{60}$  (25d Sin f.0.  
Lim rSind (1-6550) = Lim 6r [Sind (260) - Lim (r+6r) (25d Sin 60  
 $60 \rightarrow 0$   $80$   $10 \rightarrow 0$   $10 \rightarrow 0$   $10^{-1}$   $10^{-1$ 

Available at http://www.MathCity.org

Length of Perpendicular From the pole to a Tangent Let ON be the perpendiculary from 0 to the langent at P(r,0) of the curve defined by r = f(O)V(rsO) Let ON=p then from r.t DONP OP = Sin 24  $\frac{P}{r} = \sin 2\psi$ => p=r Sin W Is the required long the of perpendicular from pole tolangart. Now if a is the inclination of langent. Then by clementry geometry a = 0 + 4 Theorem If (r,0) be the coordinates of a pt. P on the curve and The the langent at that point. If I be the inclination of the langent T and 4 be the angle of between the social vector and langent then prove that  $d = \Theta + \psi$ 1)  $\frac{1}{b^2} = \frac{1}{h^2} + \frac{1}{h^4} \left(\frac{dh}{d\theta}\right)^2$ D) where p is the length of perpendicular from pole to the langent. Pro Consider the pt. P(r, 0) on the curve r= f(0) \_\_\_\_ () Then IOPI = r xôP = 0. Let T be the langent at p(1,0). & is the inclination of this langent p

and 24 is the angle b/w the langent and radius vector. p is the length of the Lar from the pole to the longout. I) Consider the DOQP, we have a = 0 + 24 (By elonentry geometry) ere di se si II) Consider the DONP  $\sin \psi = \frac{p}{r} \\
 p = r \sin \psi$  $\frac{1}{p^2} = \frac{1}{r^2 \sin^2 \psi}$  $\frac{1}{r^{2}} \frac{1}{(1+Cat^{2} q)}$ ni - 1  $\frac{1}{r^2} \left( 1 + \left( \frac{1}{r} \frac{dr}{d\theta} \right)^2 \right)$ Tan w=rdo  $\frac{1}{b^2} = \frac{1}{r^2} + \frac{1}{r^4} \left(\frac{dr}{d\phi}\right)^2$ (1) we can prove this selation directly is as required. by saying - p=rsin 4 Amendent. and proceed as above.  $\frac{dt}{d\theta} = \frac{1}{r^2} \frac{dr}{d\theta}$  $\rho_{ul} = \frac{1}{\sqrt{d\theta}} \left( \frac{\partial u}{\partial \theta} \right)^{2} = \frac{1}{r^{4}} \left( \frac{\partial r}{\partial \theta} \right)^{2} - \frac{1}{r^{4}} \left( \frac{\partial u}{\partial \theta} \right)^{2} = \frac{1}{p^{2}} = \frac{1}{\sqrt{d\theta}} \left( \frac{\partial u}{\partial \theta} \right)^{2}$ رى - A part of the

ta di a

## Available at http://www.MathCity.org

· . · · · · ·

Pedil. Eq. of Polar Currents. To obtain the pedal equation of a curve defined by r = f(0), we eliminate 0 between  $r = f(\theta) \ c = d \ \frac{1}{h^2} = \frac{1}{r^2} + \frac{1}{r^4} \left(\frac{dr}{d\theta}\right)^L$ Some limes it is convenient to obtain pedal Eq. by eliminating  $O \ d \ \gamma \ from \ r = f(O)$ , Tan  $\gamma = r \ dO \ d \ p = r \sin \gamma$ .

Written by Shahid Javed

Available at http://www.MathCity.org

If you have any question, ask it at http://forum.mathcity.org

Exercise 6.6

Written by Shahid Javed

by Ilmi Kitab Khana, Lahore		
	Exercise 6.6	
Find 4 f	for each of the given curves	(1-4)
		$\label{eq:constraint} \left\{ \begin{array}{llllllllllllllllllllllllllllllllllll$
	$\frac{dr}{d\theta} = \alpha \sin \theta$	
Now	Tom $\psi = \frac{r}{dr/d\theta}$	
	To maci- Carson 1- Cars	<u>50</u>
	Tan 7 2 2 Sin 2 9/2	
	2 Sin 9/2 Con 9/2	
	Tan 4 2 Sin 0/2 GS 0/2	
	Tan 24 = Tan 0/2	
	$= \frac{1}{2} \frac{1}{2} = \frac{1}{2}$	
()#2.	r= - 5 Carec O	
Gr.	$\frac{dr}{d\Theta} = 5 \operatorname{Casec} \Theta \operatorname{Gal} \Theta$ $\frac{d\sigma}{Tan \psi} = \frac{t}{dr_{dO}}$	
New	Tan 4 = 1+ dr/do	
	Tan W = _ 5 Case CO 5 Case O Cato	
	Tan qu = - Tan O = Tan O-O)	
⇒	$\psi = \overline{\Lambda} - O$	
@#3	$\frac{2a}{r} = \frac{1+\sin \theta}{1+\sin \theta}$ $r = \frac{2a}{1+\sin \theta}$	
	$Y = \frac{22}{1+\sin\Theta}$	
Diff. w.r.t. (O)	dr _2aGAO	
	$\frac{dr}{d\theta} = \frac{-2\alpha G \delta \theta}{(1+\sin \theta)^2}$	
North	v Tan $\psi = \frac{v}{dr} \frac{\partial v}{\partial \theta}$ .	
	$2\alpha (1+Sin\theta)^2$	
	$= \frac{2\alpha}{1+\sin\theta} + \frac{(1+\sin\theta)}{-2\alpha\cos\theta}$	1

$$\overline{lan} \quad \mathcal{Y} = -\frac{l+Sln\Theta}{Cal\Theta}$$

$$\overline{lan} \quad \mathcal{Y} = + \frac{l+2}{Sln^{2}/2} \frac{Cal^{2}/2}{Sln^{2}/2} - Cal^{2}/2}{Sln^{2}/2} \quad \overrightarrow{lan} \quad \mathcal{Y} = + \frac{(l+2)sin^{2}/2}{Sln^{2}/2} - Cal^{2}/2}{Sin^{2}/2} \quad \overrightarrow{lan} \quad \mathcal{Y} = + \frac{Sin^{2}/2}{(Sin^{2}/2 - Cal^{2}/2)} \quad \overrightarrow{lan} \quad \mathcal{Y} = \frac{Sin^{2}/2}{(Sin^{2}/2 - Cal^{2}/2)} \quad \overrightarrow{lan} \quad \mathcal{Y} = \frac{(Sln^{2}/2 - Cal^{2}/2)}{(Sin^{2}/2 - Cal^{2}/2)} \quad \overrightarrow{lan} \quad \mathcal{Y} = \frac{Sin^{2}/2}{(Sin^{2}/2 - Cal^{2}/2)} \quad \overrightarrow{lan} \quad \mathcal{Y} = \frac{(Sln^{2}/2 - Cal^{2}/2)}{(Sin^{2}/2 - Cal^{2}/2)} \quad \overrightarrow{lan} \quad \mathcal{Y} = \frac{(Sln^{2}/2 - Cal^{2}/2)}{(Sin^{2}/2 - Cal^{2}/2)} \quad \overrightarrow{lan} \quad \mathcal{Y} = \frac{(I - Tan \cdot \mathcal{Y})}{(I - Tan \cdot \mathcal{Y})} \quad \overrightarrow{lan} \quad \overrightarrow$$

.....

-

.

....

25in 0/2 2 Sin 0/2 Car 0/2 Sinole = Tan 1/2 Tan 24 = Tam (n- %)  $\Rightarrow \psi = \tilde{n} - \tilde{\varphi}$ Find the measure of the angle of intersection of the given curves (5-10) r=1 and r=2. sing. Here r=1 \_\_\_\_ (1) ,  $r=2\sin \Theta$  \_\_\_\_ (2) Pat (1) in (2) => 1= 2 sind 1/2 = Sin0 => 0= 30° Diff. a) w.r.t. 'O', we have Naw  $\tan^2 \psi_1 = r \cdot \frac{d\theta}{dr}$  $\tan 2\eta = \frac{1}{0}$ Diff. (2) W.r. t. 'O'  $\frac{dr}{d\theta} = 2C_{0}\theta$ Available at http://www.MathCity.org Now Lan 2/2 = - r dr/10 Lan N = 2 Sin O 2 GASO lan y = lan O Y2 = 0 ·· 0=30  $\psi_{1} = 3^{\circ}$  $|Y_{1} - Y_{2}|$ Now 190 - 30 = 60 Angle b/w the curves at Q= 30° is 60°

@# 6. Y== Put (1) in (11) => a r=a0 \_\_\_\_ (1) ad r0=a \_\_\_\_ (1) a0.0=a  $(9^2 = 1)$ =) 0 = ±1 Ū Big. (1) N.r.t. (0) dr = a do Naw Diff. (2) W.T.t. 'O'  $\frac{dr}{d\theta} \cdot \theta + r = 0$   $\frac{dr}{d\theta} \cdot \theta = -r$ For the = T  $\frac{dr}{da} = -\frac{a}{a}$ Tom y = ao Jan 4 = 0 \_\_\_\_ IV dr = - a de - ez at Q = 1 Fan Y = 1 Now Tan 1/2 = r. do  $\overline{fam} \ \psi_{2} = \frac{a_{10}}{-y_{02}} \overline{tr}$ 41 = 45 Tan 1/2 = - a. Or Tan 4/2 = 0 \_\_\_\_ V at 0 = 1 Tom 4/2 = -1 Y2 = 135 If she required angle is a Them 2 = 1 41 - 421 = 145-1351 9. Now if O2-1 W=> Tan 1/2 = - (-1) Shen it=) Tan y = - 1 Y, = 45 41 = 135 angle of intersection = 1 41-421 = 1/35-45 90 =

@#8 r=ae" and ret = b r= ae  $r = \frac{b}{e^{\Theta}}$ Biff. w.r.t. 'O' Diff. wir.t. O  $\frac{dr}{d\phi} = -\frac{b}{e\phi}$ dr. ae So Tan q= r. do  $\operatorname{Fan} \, \frac{1}{2} = \frac{b}{c} \cdot - \frac{e^{c}}{b}$ = ae - 1 ee Fan 1/2 = - 1 42 = 135 Tan 4, = 1  $\psi_1 = 45^\circ$ Requised angle = 1 41 - 421 = 145-135/ 90  $r = a(1 - G_{1} \otimes 0) = d r = \frac{a}{1 - G_{1} \otimes 0} = a(1 - G_{2} \otimes 0)^{-1} = \overline{a}$ 0#9  $r = a (1 - Cas \theta)$ Diff.w.r.t. O. Diff. w.r.t. O.  $\frac{dr}{d\theta} = -\frac{\alpha \sin \theta}{(1 - \cos \theta)^2}$  $\frac{dr}{dr} = \alpha \sin \theta$ So Tany = r So Tan 41 = dryA lan 42 = a (1-620) - asind  $lan Y_1 = \alpha (1 - GAO)$ lan 1/2 = - 1-650 Low 4/ 2 1- Caro lan 42 = 2 8in 0/2 Lan 4/ = 2 Sin 0/2 Car 0/2 = Tan %2 =) Y1 = %2 - (1) lan 1/2 :- lan 1/2 tem y = tam (n - 0/2) 42 = n-0/2 --- 12 (I)  $ad(\overline{I}) = )$  $a(1-c_{0},0) = \frac{a}{1-c_{0},0}$  $(1-c_{0},0)^{2} = 1$   $1-c_{0},0$ 1- GS 0 = ±1 Available at http://www.MathCity.org

ad 1- Caso = -1 1-GAB = 1 Caso=0 and Caso=2 =) \_ and O: as which is not accepted. Ø =90° Now III and IV => at 0-90 42 - ñ - 90/2 at 0=90° 41 = 90/2  $=> \psi_{1} = 45^{\circ}$ 42 = 5-45° So Requised angle = 14, -421 = 145-(5-45) 2 1-45 - 7+451 = | 9°- ~ ] = |- ~ ] Is the required angle of mursection. r= Car20 and r= Sin O @# 10 at  $\left(\frac{1}{2}, \frac{2}{3}\right)$ Her r= Cas20 \_\_\_\_ 15 r= Sin0 \_\_\_\_ Bifq. (1) w.r.t. 'Q' Diff. w.r.t. 10'  $\frac{dr}{d\theta} = -2\sin 2\theta$   $So Tan \psi = \frac{r}{dr/d\theta}$ dr = GAD so Fan 1/2 = r/dr Tan 42 = Sind GSO  $Tan y_1 = \frac{Cas 20}{-2 Sin 20}$ Tan 42 = Tan O Tan 4 = - 1 Gt 20 Y2 = 0 Y2= 1/6 Now (Tan  $\mathcal{H}_{1}$ ) =  $-\frac{1}{2}$  Get  $\overline{\Lambda}_{3}$  $= -\frac{1}{2} \operatorname{Gat} 2(\overline{n}_{6})$ Y = 30  $=-\frac{1}{2}(.577)$ 4, =- Tan (+.2. 888) 4, =-Tan- (.288)  $\psi_{1} = - 16.1$ Available at http://www.MathCity.org

Nor Required angle = / 41 - 42/ = | - 16.1 - 30 | = 1- 46.11 = 46.1 Find the pedal Equation of the given curves 11. L = 1+ Caso we know that pedal eq. I any potar curve is  $\frac{1}{b^2} = \frac{1}{\lambda^2} + \frac{1}{\lambda^4} \left(\frac{dr}{d\theta}\right)^2 - \frac{1}{\sqrt{2}}$ Bift. (I) w. r.t. O  $-\frac{g}{r^2}\frac{dr}{dA} = -e\sin\theta$ =)  $\frac{1}{r^2} \frac{dr}{d\phi} = \frac{e \sin \theta}{g}$ =)  $\frac{1}{r^{4}} \left( \frac{dr}{d\phi} \right)^{2} = \frac{e^{2} \sin \phi}{g^{2}}$ Pat III in II =>  $\frac{1}{b^2} = \frac{1}{k^2} + \frac{e^2 \sin^2 \Theta}{k^2}$ \_ <u>I</u>E []=> Rewsiling (4) in the form  $\frac{1}{p^2} = \frac{1}{\Lambda^2} + \frac{e^2(1 - G_{N}^2 O)}{\rho^2}$  $\frac{1}{h^2} = \frac{1}{h^2} + \frac{e^2(1 - (\frac{l-r}{ah})^2)}{l^2}$ from J  $\frac{1}{p^{2}} = \frac{1}{h^{2}} + \frac{e^{2}}{\rho^{2}} \left( 1 - \frac{l^{2} + h^{2} - \partial lh}{\rho^{2} h^{2}} \right)$  $\frac{1}{p^2} = \frac{1}{\Lambda^2} + \frac{e^2}{g^2} \left( \frac{e^2 \Lambda^2 - l^2 - \Lambda^2 + \partial l \Lambda}{e^2 \Lambda^2} \right)$  $\frac{1}{b^2} = \frac{1}{\lambda^2} + \frac{e^4 \lambda^2}{l^2 e^2 \lambda^2} - \frac{e^2 l^2}{le^2 \lambda^2} - \frac{e^2 \lambda^2}{le^2 \lambda^2} - \frac{e^2 \lambda^2}{l^2 e^2 \lambda^2} + \frac{e^2 \lambda^2}{l^2 e^2 \lambda^2} + \frac{e^2 l^2 \lambda^2}{l^2 e^2 \lambda^2} + \frac{e^2$ 

 $\frac{1}{h^2} = \frac{1}{h^2} + \frac{e^2}{\ell^2} - \frac{1}{h^2} - \frac{1}{\ell^2} + \frac{2}{\ell^2}$  $\frac{1}{p^2} = \frac{e^2}{g^2} - \frac{1}{g^2} + \frac{2}{g_k}$  $\frac{1}{p^2} = \frac{e^2 - 1}{e^2} \neq \frac{2}{s_A}$ Is the required pedal Equalion. 13. And  $\frac{1}{2} = \frac{1}{\lambda^2} + \frac{1}{\lambda^4} \left(\frac{d\lambda}{d\theta}\right)^2 - \frac{1}{2}$ Biff. (E) w.r.t. '0' => (<del>)</del>.12.  $\int_{a}^{br} dr = \alpha$   $\int_{a}^{br} d\theta = 0$  $\frac{1}{b^2} = \frac{1}{\lambda^2} + \frac{1}{\lambda^4} a^4$  $\frac{1}{b^2} = \frac{1}{h^2} \neq \frac{a^2}{h^9}$ which is the required pedal Equation.  $r = a \quad \text{sin } mO \quad \underline{\qquad} I$   $\frac{1}{b^2} = \frac{1}{h^2} + \frac{1}{h^4} \left(\frac{dh}{dO}\right)^4 \quad \underline{\qquad} \overline{I}$ 3#13. And Biff. (1) w.r.t. 'B' Put in  $\overline{I}$ , we have  $\frac{1}{p^2} = \frac{1}{\lambda^2} + \frac{1}{\lambda^4} \left( \operatorname{com} \operatorname{Cas} m \theta \right)^2$  $\frac{1}{b^2} = \frac{1}{\lambda^2} + \frac{1}{\lambda^4} = \frac{1}{\lambda^4} - \frac{1}$ But i)=> (= a Sin mo Sinmo = r \_\_\_\_ IV Rewhiling III in the form  $\frac{1}{p^{2}} = \frac{1}{\lambda^{2}} + \frac{1}{\lambda^{2}} a^{2}m^{2}(1 - sin^{2}mO)$ 

=)  $\frac{1}{b^2} = \frac{1}{\lambda^2} + \frac{1}{\lambda^4} a^2 m^2 \left(1 - \left(\frac{r}{a}\right)^2\right)$ from 12  $\frac{1}{p^2} = \frac{1}{h^2} + \frac{1}{h^4} \left[ a^2 m^2 - \frac{a^2 m^2 h^2}{n^2} \right]$  $\frac{1}{p^2} = \frac{1}{\Lambda^2} \neq \frac{1}{\Lambda^4} \left( a^2 m^2 - m^2 \Lambda^2 \right)$  $\frac{1}{p^2} = \frac{1}{\lambda^2} + \frac{a^2m^2}{\lambda^4} - \frac{m^2\lambda^2}{\lambda^4}$  $\frac{1}{p^2} = \frac{1}{h^2} + \frac{a^2 m^2}{h^4} - \frac{m^2}{h^2}$  $\frac{1}{p^2} = \frac{\lambda^2 + a^2 m^2 - m^2 \lambda^2}{\lambda^4}$  $k' = p^2 [k^2 + a^2 m^2 - m^2 k^2]$  $k^{2} = p^{2} [k^{2} (1 - m^{2}) + a^{2} m^{2}]$ Is the required pedal Eq. O# 14 r: a+bCASO Biff. w.r. t. 'O lr = -bsino(2) we know that  $\frac{1}{p^2} = \frac{1}{\Lambda^2} + \frac{1}{\Lambda^4} \left(\frac{alr}{a0}\right)^2$ =)  $\frac{1}{p^2} = \frac{1}{\lambda^2} + \frac{1}{\lambda^4} \left(-b\sin\theta\right)^2$ from (2)  $\frac{1}{p^2} = \frac{1}{h^2} + \frac{1}{h^4} b^2 \sin^2 \theta$  $\frac{1}{p^2} = \frac{\lambda^2 + b^2 hin^2 \Theta}{\lambda \mu}$  $\frac{1}{b^2} = \frac{(a+b(a))^2 + b^2 \sin^2 \theta}{4}$ from (1)  $\frac{1}{p^2} = \frac{1}{n^4} \left[ a^2 + b^2 G a^2 \theta + \partial a b G a s \theta + b^2 S i a^2 \theta \right]$  $\frac{1}{b^2} = \frac{1}{A^4} \left( a^2 + b^2 (cas^2 \theta + 5in^2 \theta) + 2a (b(as \theta)) \right)$ 

Available at http://www.MathCity.org

Notes of Chapter 06  $\frac{1}{b^2} = \frac{1}{b^4} \left( a^2 + b^2 + 2a(r-a) \right)$ Calculus with Analytic Geometry by Ilmi Kitab Khana, Lahore.  $\frac{1}{b^2} = \frac{1}{\sqrt{4}} \left( \frac{a^2 + b^2}{4} + \frac{2a^2}{4} + 2ar \right)$  $\frac{1}{b^2} = \frac{1}{44} \left[ \frac{b^2}{a^2} + \frac{\partial ar}{\partial ar} \right]$  $\Lambda^{4} = \beta^{2} \left[ b^{2} - a^{2} + 2ar \right]$ which is the required pedal Equation. @#15  $r = \alpha (1 - Sin \theta)$ - Biff. w.r.t. 'O' We know that (2)  $\frac{1}{p^2} = \frac{1}{\Lambda^2} + \frac{1}{\Lambda^4} \left(\frac{d\Lambda}{d\theta}\right)^2$ =)  $\frac{1}{k^2} = \frac{1}{k^2} + \frac{1}{k^4} (-aCasO)^2$ from (2)  $\frac{1}{p^2} = \frac{1}{p^2} + \frac{1}{4} \left( a^2 G a^2 \Theta \right)$  $\frac{1}{b^2} = \frac{1}{b^2} + \frac{a^2}{b^4} Cab^2 O$  $\frac{1}{b^2} = \frac{1}{\Lambda^2} \neq \frac{\alpha^2}{\Lambda^4} (1 - \sin^2 \theta)$ Now  $0 = \frac{1}{2} = 1 - \sin \theta$  $\sin \theta = 1 - \frac{r}{a}$ Sind = a-r Pat in (3) =>  $\frac{1}{b^2} = \frac{1}{R^2} + \frac{a^2}{b^4} \left(1 - \left(\frac{a - r^2}{a}\right)\right)$  $\frac{1}{b^2} = \frac{1}{h^2} + \frac{a^2}{h^4} \left[ 1 - \frac{a^2 + h^2 - 2ah}{a^2} \right]$  $\frac{1}{b^2} = \frac{1}{b^2} + \frac{a^2}{A^4} \left( \frac{a^2 - a^2 - \lambda^2 + 2a\lambda}{a^2} \right)$ 

Available at http://www.MathCity.org

 $\frac{1}{h^2} = \frac{1}{h^2} + \frac{a^2}{h^4} \left( \frac{-h^2 + 2ah}{a^2} \right)$  $\frac{1}{p^{2}} = \frac{1}{h^{2}} + \frac{1}{h^{4}} \left( - h^{2} + 2ar \right)$  $\frac{1}{p^2} = \frac{1}{h^2} + \frac{2at}{h^4} - \frac{h^2}{h^4}$  $\frac{1}{p^2} = \frac{1}{\lambda^2} + \frac{2\alpha}{\lambda^3} - \frac{1}{\lambda^2}$  $\frac{1}{b^2} = \frac{2a}{k^3}$  $h^3 = 2ap^2$ Is the required Pedal Equalion. Show That the curves " a Cas mo a O# 16 r = a sin mo cut each other or thogonally.  $r^{m} = a^{m} Cas m \theta$ Solni. Here  $r^m = a^m sin m \Theta$ Sching In of both sides of O m In k = m Ina + In Cas mo ルシ Biff. w.r.t. 'O  $\frac{dh}{h}\frac{dh}{d\theta}=\frac{1}{cosm\theta}-mSinm\theta$  $\frac{1}{k} \frac{dr}{d\theta} = - Tan m\theta$ Reciprocaling r do = - Cal-mo Tang = - GEmo Tan 4 = Tan ( = + m 0) Y1 = MO \_\_\_\_ 3 Now Gaking In of both sides of Q mlnr = mlna + In Sinmo 2)=) Biff. w.r.t. O The dr = 1 . of Casmo

1 dh Gat mo r do Tan mo Tan y = Tan MO 42 = mO => 141-421 = 1 x + mo - mol Now Thus the curves cut each other or thogoally. show that the langents to the Cardicoid O#17. r= a (1+ Caso) at the point  $Q = \tilde{D}$  and  $Q = 2\pi$  are respectively parallel and perpendicular to the initial line. r= a (1+Caso) Soln Here \_\_\_\_ () Biff. w.r.t. 'O', we have  $\frac{dh}{d\theta} = -\alpha \sin \theta$ So  $\frac{d\theta}{d\mu} = r \frac{d\theta}{dh}$  $Tan \psi = \frac{\alpha (1 + Cas \Theta)}{\alpha sin \Theta}$ - will 2 Cast 0/2 8 81 0/2 Cars 0/2 Ian Y = Tany = - Cat 0/2 Tan 4 = Tan ( T/2 + 0/2 ) Ę y = T/2 + 1/2 \_ (2) QAR 11 ALI 11 1041 41 41 1094 x= 0+ 4 W= x-0  $\frac{\overline{n}}{2} \neq \frac{0}{2} = \alpha - 0$ Rice  $\Rightarrow \alpha = \frac{n}{2} + \frac{30}{2}$ \_ (3) e will Lar 9° or 270°. GAR (1)  $If O = \frac{\overline{n}}{3} then 3 =>$ an (+ 3). [-] メ= 点+ デ = ñ Written by Shahid Javed

=> the langent at O = 5/3 is 11 to The milial line. Case 2 If  $Q = \frac{2\pi}{3}$  then 3 = 3 $\alpha = \frac{32\pi}{2} + \frac{\pi}{2}$   $= \frac{3}{2} + \frac{\pi}{2}$   $= \pi + \frac{\pi}{2}$   $= \frac{3\pi}{2}$ => "the langent" is Las to the initial line. @#18. Show that Tan y = " dy/dx - y Solm y dy/dx + x We know that d= O+ W ¥= x-0 lan y = lan (a-0) lan y = land - lan O But we know that - It land lan O land = dy and lan O 2 4 020  $\lim_{x \to \infty} \frac{\partial y_{dx}}{\partial x} - \frac{\partial y_{dx}}{\partial x} \cdot \frac{\partial y_{dx}}{\partial x}$  $\begin{aligned}
 lan \psi &= \frac{1/\pi \left( \frac{\pi dy}{dx} - \gamma \right)}{\frac{1}{\pi} \left( \frac{\pi + \gamma dy}{dx} - \gamma \right)} \\
 lan \psi &= \frac{\pi \frac{dy}{dx} - \gamma}{\frac{\pi dy}{dx} - \gamma}
 \end{aligned}$  $lam 2 = \frac{\chi \frac{dy}{d\pi} - y}{\frac{y}{d\pi} + \chi}$ Is as required.

Q.19. Show that at any point of the lominscale  $r^2 = a^2 G a 2 \theta$ ,  $o \leq \theta \leq \frac{c}{4}$ the measure of the angle between the radius rector and outward - pointed normal is 20. Soln. Here r'= at Cas20 \_\_\_\_  $\frac{\partial r}{\partial A} = -2a^2 \sin 2\Theta$  $\frac{dr}{da} = -\frac{a^2 \sin 2\theta}{r}$ Now Tan 24 = r do = V.1/2 Sin 20  $\frac{r^2}{a^2 \sin^2 \theta} = -\frac{a^2 \cos^2 \theta}{a^2 \sin^2 \theta}$ 2 - Cal 20 Tan p = Tan ( T+ 20) 2 = 1/2 + 2 O Now If a is the required angle then 14-1/2) d = 1(1/2+20)- 1/2/ =) x = 20 Hence the measure of the angle b/w the radius vector and out word normal is 20. @#20. Find an equation ( in rectangular coordinates) of the longent to: r= & sin 20 \_ al, (1, A). we know that in sectangular coordinates x = 1 Cas O Y = A Sind then the point become (1, 1)

Put (1) into (2) a d(3), we have 2= Sin 20 Caso =) x = 2 Sin O CasO. CasO =) X = 2 Sin O Cas<sup>2</sup> O (4) ad y = Sin 20 sin 0 Y = 2 Sind Caso Sind 7 = 2 Sin<sup>2</sup> O Caso (C) Bifg. (4) w.r.t. 'O'  $\frac{dx}{dA} = 2\left(\cos\theta\cos^2\theta + \sin\theta \cdot 2\cos\theta(-\sin\theta)\right)$ = 2 Cas<sup>3</sup>O - 4 Sin<sup>2</sup>O CasO \_\_\_\_ (6) B.f.q. (S) w.r.t. '0'  $\frac{dy}{d\theta} = \partial \left[ 2 \sin \theta \cosh \theta \cosh \theta + \sin^2 \theta \left( -\frac{\sin \theta}{2} \right) \right]$ =  $4 \sin \theta \cosh^2 \theta - 2 \sin^3 \theta - (7)$ From (6) and ()) dy = dy do  $\frac{d\gamma}{d\kappa} = \frac{4 \sin \theta \cos^2 \theta - 2 \sin^3 \theta}{2 \cos^3 \theta - 4 \sin^2 \theta \cos \theta}$  $\frac{2}{2} \frac{4 \cdot \frac{1}{12} \cdot \frac{1}{2} - 2 \cdot \frac{1}{12} \cdot \frac{3}{12}}{2 \cdot \left(\frac{1}{12}\right)^3 - 4 \cdot \frac{1}{2} \cdot \frac{1}{12}}$ dy later (1, 1/4)  $\frac{\sqrt{2} - \frac{1}{\sqrt{2}}}{\frac{1}{\sqrt{2}} - \sqrt{2}}$  $\frac{dY}{dx} = \frac{\frac{3}{2} - 1}{1 - 2} = \frac{1}{-1} = -1$ So equation of the langent is given by 4- 4, = m (x - x,) Y-1 = -1(x-1/2  $\chi + \gamma = \frac{1}{\sqrt{2}} + \frac{1}{\sqrt{2}}$  $x + y = \frac{1 + 1}{\sqrt{2}} = \frac{2}{\sqrt{2}} = \sqrt{2}$ x+Y = 12

Available at http://www.MathCity.org

which is the required eq. of line langent to r = Sin20 at (1, T/4) r= g + Cas & at (1, 7/2) O#20 (ii) soln: Changing the given eq. in sectangular coordinates x= haso رمى \_\_\_\_ y= LSind (6) the the point become (0,1) x = Caso + Casto (4)  $3) = \gamma \gamma = (1 + Gas \Theta) Sin \Theta$ Y = SinO + SinO ConsO رى \_\_\_\_ Diff. (4) w.r.t. '0' Biff. (S) w.r.t. 0 \_ Sin 0 \_ 2 Cas 0 Sin 0 \_\_\_\_ (6) So by chain Rule, we have dr 2 dr do  $\frac{d\gamma}{d\kappa} = \frac{Cas\theta - sin \, \sigma + \omega}{-sin\theta - 2 Cas\theta sin\theta}$  $Cas O - Sin^2 O + Cas^2 O$ dr /  $= \frac{0 - 1 + 0}{-1 - 0}$ We know That the eq. of the langent is given by Y-Y, = m (x-x,)  $y_{-01} = 1(x-0)$ Y-1 = x x - y + 1 = 0Is the required eq. of the line largent to r= 1+ (aso at (1, 7/2)